Similar Polygon — Triangle Theorems

Strategy:
1. Line || to one side, divides the sides proportionately.
2. Ray bisects an £, divides opposite side into segments whose lengths are
proportional to the lengths of the other 2 sides.
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Name the similar S

©

X Given: LA=/D

Given: A XY#
M /Y= ZXMN

Give: ADEF ~ ARST
T perimeter of ARST' is 12

Findx, y, z
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Give: RM =3, MS=4
NT =15
M N

Find RT
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Give A RST ~ A DEF
if ms£S=42 mZF=8+6andmZD =44, Find x
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Give A DEF

R S

SN T

F

E

Find SF,if DR=4, RE=35, and DS=35

M Give: A ABC
Sx+8 MN P AB
3x +2 Find x
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Given: A OMN
A B AB P MN
M N
Find x; AM = 4x — 6; BN=6x-5
OM = 2x + 6; ON =8x-2
D
Given: A DEF
TW PEF

T /4

DW=8 WF=4, EF=14
E F Find TW

12 Given: A ABC
Ll=/2

AD =5 AC=9 and BC=18

A D B Find DB

In AGHK, Eisbetween Gand H, KE bisect £ GKH
if GE=8 FEH=5, and GK =12
find KH
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